1. Keith had 3/4 of a bag of chips.
He gave his sister


A. 1/4 of a bag of his chips


B. 1/4 of a bag of chips


C. 1/4 of his chips

How much does he have left?

2. Jan has 3/5 of a pan of brownies

Her brother eats


A.  A piece 1/3 the size of a whole pan of brownies


B. A piece 1/3 the size of the remaining brownies


C. 1/3 of a pan of the brownies

 
D. 1/3 of the brownies

How much does she have left?

3. Fred had 3/4 lb of jelly bellies

He gave his sister


A. 1/3 lb of jelly bellies


B. 1/3 lb of his jelly bellies


C. 1/3 of his jelly bellies

How much does he have left?

4. Kyle had 3/4 of  a pitcher of juice
He drank 


A. 1/4 of a pitcher of juice


B. 1/4 of a full pitcher of the juice


C. 1/4 of the pitcher of juice


D. 1/4 of the juice

How much does he have left?

5. Sam has a lot of marbles.  3/4 of his marbles are small marbles.   
He lost:


A. 1/3 of his small marbles


B. 1/3 of his total marbles, and all of the ones he lost were small

How many small marbles does he have left?

(what would be a more natural question to ask?)

